CV L PIEE:"

Ha: SHo |8 EH(YUDBUT /YU HT)

ool I8 - xFIIs 23 (B9 &2

SH B S(BH) - NRAY - BES 0 & o4 p[E-L" HRE2
=EPIET 6,081,368 6,285,029 203,661
THO J|E - EH(LNIJYT /Y HY) 5,947,767 6,111,541 A163,774
SIEES- DIERE 1,381,707 1,405,700 £23,993
SHAM U HOAO HAM F7 166,000 178,000 A12,000
202 01t 8,000 20,000 A12,000
01 =L o1 bl 8,000 20,000 A12,000
OSF ANHMF=N AR 2 32 A 6,000 15,000 29,000
OFMMY A 2,000 5,000 A3,000
Col5l MY st 48,007 60,000 A11,993
201 et HH| 10,800 20,800 A10,000
01 At 22l bl 10,800 20,800 £10,000
OF8 ALY XA 6,000 16,000 ~10,000
202 048] 1,000 2,000 A1,000
01 =L 01 bl 1,000 2,000 21,000
0z ABES YR 1,000 2,000 A1,000
301 YA 207 1,200 £993
09 S AHAIHIXIR 3 207 1,200 £.993
OCIFHI AR AR FA Oyl 207 1,200 £993
agx sy 349,293 357,074 AT,781
Ness SHMN 44,200 48,600 A4,400
201 Yer2 | 42,200 46,100 A3,900
01 AL 22l bl 41,200 45,100 3,900
O%US, ZARES, 2DN M= 6,740 8,000 A1,260
osHAYS M 31,460 34,100 £2,640
OFUSZAREN 2N 3,750 3,900 A150
OSHE =2 AACH 3,850 4,500 A650
OHFSHIEZ 3,200 3,900 AT00
OLRENE 20A 11,600 12,000 A400
ONSYUBYL 20A 3,160 3,900 AT40
202 01t 2,000 2,500 A500
01 =L o1 bl 2,000 2,500 A500
CENTTELE) 0 500 A500
2ATABIEA 305,093 308,474 A3,381
201 Yer2 | 30, 104 33,485 A3,381
01 AL 2t 2l | 30, 104 33,485 £3,381
ONBIZMN =& 30, 104 33,485 A3,381
HEpY 25 4,216,767 4,348,767 A132,000
FRETAM 2y APEY 368,000 500,000 A132,000
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HE: ©NO I8 EH(YUDBTHEI/AUHE)

ool MEMpY AV (B9 &2

SH B S(BH) - NRAY - BES 0 & o4 p[E-L" HRE2
207 &1 IH L bl 368,000 500,000 A132,000
NEEEET 368,000 500,000 A 132,000
OFREIANM +8 #4289 368,000 500,000 A132,000
™2 YA (Z M2 2)(IEH/IIE) 93,701 133,588 £39,887
ol 2l 2,781 39,008 A 36,317
Sz ¥eed 29 2,781 39,008 £36,317
101 124l 2,781 39,008 A 36,317
03 ERH(RIAHL)Z2XES 2,781 39,098 A 36,317
07123 1,433 27,021 25,588
oxa+Y 608 2,250 A1,644
OANLARR4Y 0 3,462 A3,462
OMNREEINLY 0 1,231 A1,231
CI=F-EP/ 608 2,252 A1,644
OFAZ A 77 1,680 A1,603
(©mE=4.] 55 1,200 A 1,145
EEE 90,920 94,490 A3,570
Shed Il 90,920 94,490 A3,570
202 01t 8,500 2,070 A3,570
01 =01 bl 8,500 2,070 3,570
ORM2E =L 8,500 12,070 A 3,570
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